7-6 Similarity Transformations

Determine whether the dilation fromA to B is
an enlargement or a reduction. Then find the
scale factor of the dilation.
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SOLUTION:

Kite B is larger than kite A, so the dilation is an
enlargement.

The distance between the vertices at (0, 0) and (0, 4)
for B is 4 — 0 = 4 units and between the vertices at

4
(0, 0) and [U, %:l forAis 3.
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So, the scale factor is

L g |4

ANSWER:
enlargement; 3
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SOLUTION:

Triangle B is smaller than triangle A, so the dilation is
a reduction.

The distance between the vertices at (0, 0) and (5, 2)
for Ais V@ -0+ —0)7 =y27 +57 = J425— /29

The distance between the vertices at (0, 0) and (2.5,
1) for Bis ya-o?+es—o?=yri2sf=|11625=\725

. ¥7.25 260 1
So, the scale factor is @ ~Tqg — -

ANSWER:
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reduction; —
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SOLUTION:

Parallelogram B is smaller than parallelogram A, so
the dilation is a reduction.

The distance between the vertices at (0, 0) and (-6,
0) for A is 6 and between the vertices at (0, 0) and (—
2,0) forBis 2.
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So the scale factor is 6 or <.

s |

ANSWER:
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reduction;
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7-6 Similarity Transformations

-+ ; S7=(0~(=3)) +(0-6)
o AR
T A — v'9+36
B8 :3“@
1U = [(9-0)" +(9-0)
9. =Bl +81
SOLUTION: =02
Trapezoid B is larger than trapezoid A, so the dilation S = \!{9 _{_3}]: (9 _5]3
is an enlargement.
=J144+9
The distance between the vertices at (0, 0) and (0, — T
6) for B is 6 and between the vertices at (0, 0) and B
6 A sl MY L Kibgysasti
(0,-3) for A is 3. So the scale factor is 3072 ST TU sy 3 %° g~ by 888
Similarity.
ANSWER:
_ ANSWER:
enlargement; 2 |
by
Graph the original figure and its dilated image. U
Then verify that the dilation is a similarity S |-t
transformation. L
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- olT X Similarity.
17.J(-6, 8), K(6, 6), L(-2, 4); D(-12, 16), G(12, 12), H
’ 4,8
Use the distance formula to find the lengths of the ( )
sides. SOLUTION:
MP = J(2-1)" +(2-4)’ UNEEER
= -\.Illl -I—-'-'- hh_-}’_
g TR G
= ] J I--._._.'-'-'I
PO=\(5-2) +(5-2) -
=+9+9 0 X
=32 Use the distance formula to find the lengths of the
- - - sides.
MO = .J(ﬁ —1)" +(5-4)
=16 +1
w7
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7-6 Similarity Transformations

JK = J{ﬁ ~(-6)) +(6-8)’

=./6d + 64

= u'ﬁ

SR KL L o AJKL~ADGH bysss

DG GH DH 2
Similarity.

ANSWER:
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DG GH DH 2
Similarity.
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18.

If AABC ~ AAYZ, find the missing coordinate.
¥

Yio, 8)

Bin4 \

Ap,oo  Cig o) Zx

SOLUTION:
Since A4BC ~aqyz, 28 _AC
AY AZ

AB =4,AY =8,andAC =6
Substitute.

4.5

8 AZ
445 =48

AZ =12

The coordinates of Z are (12, 0) because the point Z
lies on the right side of the x-axis, A lies on the origin,
and AZ = 12.

ANSWER:
(12,0)
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SOLUTION:

19.

Since AABC ~AAYZ. ﬁ:£
AY  AZ
AZ =12, AY =6,andAC =4
Substitute.
AB 4
6 12
1246 =24
AB =2
Since the point B lies below the y axis, the
coordinates of B are (0, —2), A lies on the origin, and
AB =2.

ANSWER:
0.-2)
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